Ly

et_bild.frm

ETKA
Auoi
Model Year MG: SG: lllustration Restrictions Update
JEM 05 1 03 | 103-60 >>OM-5-149 9| 615 9:27 | 16.04.2005
EPIS 270



ETKA

Ly

Auoi

Model Year MG: SG: lllustration Restrictions Update
9:27 16.04.2005
JEM 05 1 03 103-60 >>9M-5-1499| 615
Pos Part Number Name Remarks Qty Model
cylinder head 1.91tr. dieselmotor+
cylinder head cover BEW
1 038 103 351 E cylinder head 1
(1) #038 103 265 PX cylinder head with wvalves, 1
camshaft and injector
(pump/jet)
2 038 103 085 C radial shaft seal 47X10 1
(shaft rotation right)
3 N 013 811 5 sealing washer A10X13,5 1
4 N 016 024 1 plug M10X1 1
5 N 011 914 3 sealing cap 24 1
(5) N 011 919 1 sealing cap B25 X
6 N 901 157 02 washer 12,5X23,5X4,5 10
7 038 103 714 fitted bolt M6X54 10
8 N 901 889 02 stud M8X35 8
9 N 909 055 02 stud CM10AXM8X73 1
10 N 025 666 3 ball 8V 1
11 044 103 499 B adapter 1
13 tensioning plate
see illustration: 130-30
14 038 103 385 A screw, cheese hd. M6X64 4
15 038 130 085 emulsion tube 1
16 b 038 103 383 BL cylinder head gasket 1,45MM X
1 hole
(16) b 038 103 383 BM cylinder head gasket 1,53MM X
2 holes
(16) b 038 103 383 BN cylinder head gasket 1,61MM X
3 holes
17 038 103 384 screw, cheese hd. M12X166 10
18 bearing shell
see illustration: 109-32
page: 001 EPIS 270

et _text.frm



ETKA

Ly

Auoi

et _text.frm

Model Year MG: SG: lllustration Restrictions Update
9:27 16.04.2005
JEM 05 1 03 103-60 >>9M-5-1499| 615
Pos Part Number Name Remarks Qty Model
19 gasket
see illustration: 145-05
20 gasket
see illustration: 145-05
21 038 103 469 AB cylinder head cover 1
23 gasket
not a spare part
24 038 128 773 bolt, hex. hd. with shoulder M6 13
and sleeve
25 06B 103 485 B sealing cap 1
26 06A 103 483 D gasket 1
27 sealing washer 1
see illustration: 103-75
27 sealing washer 1
see illustration: 103-77
(28) 038 103 941 L bracket front 1
29 N 010 233 6 screw, hex. hd. M8X28 1
30 038 103 390 lifting bracket rear 1
31 N 102 394 02 socket hd. screw with M8X22 1
collar
(32) 038 103 493 AN breather tube 1
33 N 905 618 01 clamp ALl16-28 1
--- END - -
page: 002 EPIS 270



